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1) { negative integers } under addition
—+-d=

2) {reals } under square root

3) { positive reals } under subtraction

b-1= —|

4) { non-negative reals} under division

O
5) {integers } un(é multiplication
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St-(3+4t)= M+ 2(¢-34)
St-3-4t= 17+ 1b- bt
t-8= 32-(t
T =30
t =27

[0.38( & +4
3el4d) - 15(at-0) = 83(5-aL)
384 + 1562 - 30t + 90 = KI5 (Ll
gL+ 242 = H15-ppt
T4 +=113

L =
trle - 2%-3 - @‘5@..&
& 9 iy l

Be+e) — 8(at-3) = 8(3t+5)
2 g 4

Hi+0) —(At-3) = 2(34+5)
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015 (24 - W)= 0.03(5- ze)}:oo
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Y ‘l\’\a,l. Solve e x

G
3(x+3) - (Ax+) = 3(Bx+¥)

SIX+q — Qx-"1 =9gx+12-
40X =10

X=ty
O, [O.’I?’I(X'D + 0.123(x+2) = 0.2560 (x+D](ooo

Ve (k-1 + 123(x+2) = 25b( x+D
787Tx =151 +I23%x + 24y = 25X + 250

@ [l’lx+3 — Ix+1 - szgc(]-;g
5

054x =797
x= 197
o5
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D 3Ac + 20b=14p ;A

P(3e +ab) =iy

3C+2Ab 3¢t
A= Mo
3C+b

___L=_L+__L ’QI ._!_r:
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Fndb 3 oovsecubve ovin numbers $o Wnat Yhe Shrd
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AX 2N+ 2 Ax+4
Ayt = 4. 2x
3
R x4d= Bx
3

bx+1d= Zx
= O?)C
o= \
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